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Suspensory | Connects lens to ciliary =
ligaments | muscles, The brain controls complex Stimulus Lights switch on
behaviour. It is made of A0
" billions of interconnected g @
An‘..amrrmd.ahnn is the process of Neuroscientists e -
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Near object Far object i Typical motor neurone ‘U u
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Response to internal and external change

s Thermoregufotory | Contains receptors sensitive to the temperature
Monitoring centre of the blood.
Blood glucose These automatic body
— concentration control systams / temperature Skin Contains temperature receptors, sends nervous
i may involve impulses to the thermoregulatory centre. & 4
in the Body G —— VE A
human temperature ji! g
body e N E - Blood vessels dilate (vasodilation), e
i chemical - ¢ | sweat produced from sweat (HT) Thermal energy is lost from blood
Water levels Thermoregulatory | high i
responses. y W o = glands. near the surface of the skin, sweat
| centre (hypothalamus) E ; evaporates transferring thermal energy.
: : R a | Blood vessels constrict
The regulation of internal conditions of a L | Too i) )
] i fam b intal i T R (vasoconstriction), sweating stops, (HT) Thermal energy loss at the surface
£ER L nrga:_is-m ufmafm alr' FERRIR . & ~ | muscles contract {shivering). of the skin is reduced, respiring muscles
conditions for function. temperature cells transfer chemical to thermal energy.
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Thyroid e I E dife i
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too much WARtes /s wren ions and ureain VRO S e
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Y il - Blood glucose concentration

they are de-aminated to for m toxic ammonia which is converted to urea

(HT only) digestion of proteins results in excess amino acids. In the liver
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i water/fionfurea | =~ \ S
fun:ctmn J'o':; in urine. = Produced in adrenal glands, Too high (HT only) Too low % "g’ ;i
ellicenthy ' f \ c increases breathing/heart rate, 27 o
Z ! = blood flow to muscles FERCEISES Bloece: Pancreas produces S o ®
: S T Adrenaline ! : the hormone insulin, P Pl -
Kidney failure is treated by organ e conversion glycogen to glucose. L the hormone w P

& £ 1=}

transplant or dialysis. \ - Prepares body for “fight or & : glucagon that L g B
] | I8 the blood into the T O
i = flight”. R b s causes glycogen to o3
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Kidney water blood and selective [ e : fo ol f € e £
; BB : diffusion while @ rate. Important in growth and o glycogen for blood. =
function | bafonce of | reabsorption of = development. storage. £ 4
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water. and glucose levels. _,--""ff’ : v e
= : Diabetes bt .
Increasing thyroxine oHe
levels prevent the Type 1 Type 2 23 3
Acts on Released by pituitary gland when release of thyroid W o 2
(HT only) '”'d“E?'_ _btood is too conce ”_tfﬂt‘?d- Water stimulating Pancreas fails to produce sufficient | Obesity is a risk factor. Body cells no - %'; -
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FSH and LH are used as “fertility ) i
drugs’ to help someone become 2 g ;E _ Ll_ght_ breaks_ down auxins and _the‘f t_:uecome ynequa!ly
. T o = Light distributed in the shoot. The side with the highest
pregnant in the normal way = 3 i ; )
— o g 43 = (phototropism) | concentration of auxins has the highest growth rate and
e 3 352 Plant ' the shoot grows toward the light
In Vitro Fertilisation (IVF) treatment. TA8 882 | jepones g eht-
S| | 5082 : Gravi I distributi i
- - =3 - o Pl S ravity causes an unequal distribution of auxins. In roots
il d " . : : ~ 5 & using i - : .
involves giving a ”]'JT'TU FSH and e stimulate TS| |8 wE Y . the side with the lowest concentration has the highest
the maturation of several eggs oeE c 4o TAHEEEN: Gravity : L :
3 a4 m £ © {auxins) sy T growth rate and the root grows in the direction of gravity.
=23l |z E = {geotropism or
The eggs are collected from the mother and fertilised | | & g— 3 s gravitropism] | | new shoots from a seedling the unequal distribution of
by sperm from the father in a laboratory. m, g = auxins causes the shoot to grow away from gravity. — =
@ a =
o+ 0 e E
- s (HT only) Gibberellins are important (HT only) Ethene controls cell
The fertilised eggs develop inte embryas. T~ ik bating seed permassbion, division and ripening of fruits.
= 3T e Weed killers, rooting powders,
C — n C Auxins ! Ehs
¢ c £3558 4w promoting growth in tissue culture.
At the stage when they are tiny balls of cells, one or eat infertility 2 O g o @ =
— = o - - -
two embryos are inserted into the mother's uterus (HT only) : — ':_; = E £3 Ethene Contral ripening of fruit during
{womb). Y : o / £ cBof = storage and transport,
0 0 82 &m0
\/ il a En< oy . End seed dormancy, promote
= o £ Gibberellins e g
T TE i =2 . £ flowering, increase fruit size.
Emotional and physical stress. e : =,
Potential g Male Female

disadvantages | Success rates are not high. ———"__—_—'_——'_—'d

of IVF

During puberty reproductive hormones cause secondary sexual

Multiple births risk to mother and
babies,

characteristics to develop

-\-“'\_ 2

. o Cestrogen {main female Testosterone (main male
Contain hormones to inhibit FSH ngen (om Jon Berone |
2 reproductive hormone) reproductive hormone}
production so that no eggs

mature,

Oral contraceptives

Produced in the ovaries. At
puberty eggs being to mature
releasing one every 28 days —

ovulation.

Produced in the testes
stimulation sperm production. ]

Fancreas
For slow release of progesterone

to inhibit the maturation and
release of eggs for months or
years.

Injection, implant,
skin patch

Fertility can be
controlled by
hormonal and

(HT only) a graph of

Condoms or diaphragms which hormone levels over time

prevent sperm reaching the egg.

Barrier methods

non hormonal 05"“’&“. /1?_F°E\E?E'"m Follicle Causes maturation | (HT) FSH stimulates
= = ~~f s - . = = L
methods intrauterine devices | Preventimplantation of anembryo | W 4 N w stimulating of anegg in the ovaries to produce
or release a hormone. \ o, ,-"/ g g § hormone (FSH) ovary. oestrogen.
C - = H pE—— T — e—— \\_ =
Spermicidal agents | Kill or disable sperm. - E Luteinising Stimulates release | (HT) Oestrogen stops

Avoiding intercourse when an egg &) WU & hormone (LH} of an egg. FSH production and

Abstaining : : s & (@ i j ] stimulates LH

= may be in the oviduct. g € = y e
Oestrogen and Maintain uterus production in
Surgery Male or female sterilisation. FVHILATIOM progesterone lining.

pituitary giand.



